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1| gRREE (M X) 86 4 81 20 79 20 79 20 60 79 |81.3 | 86
2 | &iE BE | (kb BX) | T79 20 93 0 80 19 87 13 52 79 |84.8 | 93
3 | AHTHRT (k. X) 79 20 86 12 85 12 83 18 50 79 |83.3 | 86
4 | KRB RiLC (S LX) 81 16 81 20 92 0 87 13 49 81 [85.3 | 92
5 | #EEF BT (B ) 83 14 83 18 85 12 85 14 46 83 |84.0 | 85
6 | KH *ET1 (e X) 82 15 83 18 85 12 87 13 46 82 |84.3 | 87
7 | S I G X) 84 15 83 17 87 13 45 83 [84.7 | 87
8 | Ml FETF (LX) 87 7 83 17 84 17 41 83 |84.7 | 87
9 | FEPERT (5. X) 80 17 86 12 85 12 92 0 41 80 |85.8 | 92
10 | K& &E+ (HBHLX) 84 13 85 14 96 0 87 13 40 84 |88.0 | 96
11| a E+ (E - [X) 79 20 91 0 85 12 88 6 38 79 |85.8 | 91
12 | ¥ T (F X)) 83 18 81 19 37 81 [82.0 | 83
13 | ¥R BT (5 FLIX) 87 2 86 12 80 19 93 0 33 80 [86.5 | 93
14 | HI BT G X) 90 0 85 14 92 0 84 17 31 84 [87.8 | 92
15 | FREMDT| (FE X) 85 9 88 5 84 17 31 84 [85.7 | 88
16 | F) B (FFHIX) 85 9 84 15 92 0 24 84 [87.0 | 92
17 | $ARZFEMA (B X) 91 0 86 12 85 12 95 0 24 85 |89.3 | 95
18 | A7k HliF (Fk ) 84 13 89 3 86 6 89 4 23 84 [87.0 | 89
19 | A =& (B X) 84 15 89 4 19 84 [86.5 | 89
20 | HU A (F HEX) 85 9 87 7 88 3 90 1 19 85 |87.5 | 90
21 | IRl =& Gk X) 92 0 98 0 84 15 90 1 16 84 [91.0 | 98
22 | dEil AR (HFHX) 91 1 87 13 14 87 189.0 | 91
23 | ME ®m1 (HBHLX) 101 0 97 0 98 0 87 13 13 87 195.8 | 101
24 | FAREET (IR X) 84 13 98 0 13 84 [91.0 | 98
25 | BiEmET G IX) 84 13 91 0 102 0 100 0 13 84 [94.3 | 102
26 | /NEF AT (B 1X) 89 0 86 12 93 0 93 0 12 86 [90.3 | 93
27 | RS FET (FHEX) 85 9 91 0 91 1 90 1 11 85 [89.3 | 91
28 | FH £ (F X) 85 9 105 0 9 85 [95.0 | 105
29 | Pk B (FHEX) 95 0 88 5 90 2 100 0 7 88 [93.3 | 100
30 | JFAR—= (FFHEIX) 90 0 98 0 92 0 88 6 6 88 [92.0 | 98
31 | BRH #3E (A X)) 88 0 96 0 86 6 91 0 6 86 [90.3 | 96
32 | w0 THE (F X)) U H RS 86 6 98 0 6 86 [92.0 | 98
33 | i @ (PEAEX) 90 0 93 0 89 4 4 89 [90.7 | 93
34 | HE ET (HEAEIX) 86 4 4 86 [86.0 | 86
35 | WEELTT (PEAEX) 88 0 90 2 90 1 3 88 [89.3 | 90
36 | =Y (FHEX) FHIR S 90 2 91 1 96 0 3 90 [92.3 | 96
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37 | ThH #ET R X) 89 0 90 2 U A XY 2 89 189.5 | 90
38 | W T (e [X) 87 2 100 0 FHIR % 2 87 [93.5 | 100
39 | ME T (FEEX) 89 0 91 0 93 0 89 [91.0 | 93
40 | hE TR | (BBRIX) 91 0 93 0 91 [92.0 | 93
41 | FKoCEHSE (PEAEX) 101 0 92 94 0 92 |95.7 | 101
42 | tREE L (FEKIX) 88 0 94 0 94 94 0 88 [92.5 | 94
43 | RN HBE R X) 95 0 HHTR S 94 0 94 |94.5 | 95
44 | g A (%7-1X) 99 0 100 0 104 95 0 95 199.5 | 104
45 | Il OET | (FEHK) 95 0 97 0 93 99 0 93 196.0 | 99
46 | KB W1 (FFEEX) Y H KXYy 106 0 106 [106.0 | 106
47 | PR THe (h X) 105 0 IR 109 108 0 105 [107.3 | 109
48 | RHFRES | (FhR)INIX) 99 0 FHIR Yy 109 0 99 [104.0 | 109
49 | MERZT | X) M H KXY 94 0 94 94.0 | 94
50 | EEFHFIF | RESR) 91 0 L Nie 0 91 |91.0 | 91
51 | JEdHSEEH (F X) 92 0 94 0 0 92 193.0 | 94
52 | [iA& #mF R X) 92 0 95 0 0 92 [93.5 | 95
53 | Kb Tk (V&R X)) 107 0 95 0 0 95 |101.0 | 107
54 | /N EHE (h X) 88 0 97 0 0 88 192.5 | 97
55 | g A)r (PR ) 94 0 98 0 0 94 196.0 | 98
56 | HAAET (B X)) HATR G 0 1000 | - 0
57 | M HOIL (%+-1X) 91 0 0 91 |91.0 | 91
58 | HHE T | (HEXK) 91 0 0

59 | HWEAbX (BiRIX) 97 0 0

60 | A% Ak | (h X) FHIR G 0

61 | tH HFE | & X) TR 0
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